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One who seizes for a — 7 X% 2°RY 2nw 2pR2 277 pab 0DINN
creditor, where others are harmed, he does not acquire it

OVERVIEW
73 "M ruled that 2nX% 20w opna 7"'va? o9nn is not aNp. Our NMBOIN
explains the parameters of this ruling and its limitations.

mooIn begins by saying that 71p X% 1"va% 09107 is applicable -
— (3,997 man3) 2MIN P93 NINTI ‘NYYY INWUY IrON

Even if the m%» made the 0910 for his 79w to be 090 from the MY; as is

evident in 2an1277 Pp -
— 25515 19MIYWY 1159 9ANT IUN 93 9% 533

Regarding the episode with % 32 9% who told his mo>w, etc.
— (X297 ’NyO8m N22T NP P93 YT Y7/WA Y1990 NI

And this does not follow >"w9 w9’ who explained in the first pa2 of

n''a noon -
— 1P NNIYY 9D NYHY INWYAY

That if the Mm% made the 00 for a mow, then all agree that the 0910 is 7P

for the m19»; this, maintains NN, is incorrect -
—SmnoY Dyvn ‘N9t NIN INYY NIYY INUY XY 1999NT 7N )PNT

For there is no difference whether or not the m>» made the 0910 a °5w; for
even if the mY» did not make the 0910 a 9w, he is nevertheless a 9w, for

79951 is on account of *mmbw -
— (35 97 091 TN 172 PN PI93) (3, 41 NI NIAT NNDP D192 NIMNTI

' See “Thinking it over’ # 1.

% A person who owed W 72 7™ money died and left over a ship. 1w 72 %™ told his 7*2w to seize the ship
for w1 72 > as payment for the debt. The deceased also owed money to X995 27 and ¥ 7> 277 7772 X117 2.
They told the m5w of ywn 12 Tn» that his X0°on is ineffective since he is a 0™NX? 20w pna n"ya? oon
(namely these very two "1 and *"77 7772 1", who [later] seized the ship for themselves).

? See *"w1 there (090 7"7 and) ¥? 7"7.

* 7701 (here) means acquiring something (from someone) for the benefit of a third party. In this case the
091N is 71971 the assets of the M for the 779n.

> The reason one can be 71217 on behalf of a third party is because we consider the 721 (or 01) to be a oW
of the intended recipient. We assume that the recipient is implicitly appointing the 7317 to act on behalf of
the recipient since it is for his benefit. Therefore since every 1217 is a 7w, there is no difference whether
the recipient actually appointed him a %W or if he is a virtual m%w. Once we know that 73p X2 n"2% 091N it
applies in both situations.

% Whenever 01 is effective (if for instance it is not 0™nx> an) it is because we consider the 7911 to be a
oW of the ultimate recipient.

7 See X™oOyTA ANRW "M NN who suggests to amend this (from p"9) to 11"2 on &,2y 77. The X1 there states
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As is evident in the first p9p of »"'3 and in 779%57 753 PR po0.°

nooIN asks:
—Mp NY 99NN ANy 071”2 N Hyah vInNn 93N 229 YINRP NINT 9INN ON)

And if you will say; that here "7 rules that 29918 2w 23p22 7''2 oo

I RY -
— 19520 N3P 1922NY ANINN NYINN 120D (3, 91 NYINN NI2T NHDP 7992

And in the first P99 of »''2 ndon, the same *"1 maintains that if one picks

up a 7x°x» for his friend, the friend acquires the xxn -
— D3P XY 1NN 9INT XTON 299 11BN 29 0NN 9INRTI NOIN XN XM

And these two rulings (of 1"2% 091077 and "21 7X°¥n 7°237) are dependent
on each other, as the X7n) states there, ‘1'% and 1''7 both agree that 7237

I K% 17°207 RN, and the X113 continues -
—"D99NNY ANV 01PN 29N Y¥AY DN 31 RNPYY INN

What is the reason that 177201 71p X? 17°2n% aX°¥n 7°2307; because it is

considered as a 2> MIR® 2w 2Wpna n''ad ©2IN.” This concludes the citation from
the X773 in n"2. Since °" maintains 73p X? 2NRY 27w 23PR2 1"2% 09107 he should also
maintain 1720 7317 X2 1209 A80%A s like 7" 1M1

N1B0IN answers:
— 231 H¥aY NN 152 PINM 1INY 5397 9 Y

And one can say that s"+9 differentiates between nN°%% (where ")
maintains 17°217 73p; not like 1" 1"7) and a 1''2 (where >" agrees that 717 XY) -
159305 13 991 7YWDY 13TT INT INIYN NNV
Because nxvxn is different from a 217, because since the 7°23» has the right
to acquire the nx°¥n for himself, he can also acquire it for his friend.

that since a »121 has no mn°%w therefore he has no 7721 either; proving that 7231 is MW oyvn.

¥ The xm3 there discusses that one can be 7m0 w9 from his own grain for someone else without
(receiving) his consent, even though by 72170 one cannot be w>15» for someone else unless he is his mow.
This proves that since it is a M7, he is considered his m5w.

? Everyone has an equal claim to the 7X°¥» (the lost (and found) object). If one picks up a 7x°¥» for a
specific individual, he is denying all the other people their right to the nx°¥n. He is a n"2% oon for this
individual (who is a "2 since he too has a right in this 7X°¥»n), however he is >3nX> 21 (to all the other
people who also had a right in this 7%°%» and now have this right taken away from them by this 091n).

' moon asks this contradiction in the rulings of *" after mooIn previously established that the rule of o7
mIp X2 027 is even if W wwy. Otherwise we could have reconciled the contradiction in >, saying that
17217 73 1R ARC¥A AT is in a case where YW WY (as the case is there in the 71wn of 121 2017 7).

'" One explanation may be that in this case he is not really a £*nx> an, for he could have acquired it for
himself (and the 071X would not receive anything), therefore the 07X are not losing by the fact that he is
n"a% oon.
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However, by a n"3, the 0910 cannot seize the assets of the m?% for himself (since the m?
owes him no money), therefore he cannot be 0910 for the 11" either.

SUMMARY

TP XY D°NRY anw opna n"a% 09Inn even when YW Wwy; however "9
maintains that if it is a case of w517 217 12 (such as a X°x¥») then he is o1
7.

THINKING IT OVER
1. In the entire 770 we have the rule that \mnd 78 5w 1MW, Why is it here
that the mYn himself can be 0910 the assets of the M7 [even if he is 2n

0 nx>]; but he cannot appoint someone'” as his MW to be 091N on his
behalf?!"

2. 123%1 owes one hundred dollars each to 1wnw, »12 and 77177, now 21X has
assets worth two hundred dollars, and 1y seized all of the assets intending
to keep a hundred dollars for himself and a hundred dollars for "%. Is nwnw
considered a (77i°) D°ARY anw pna (M9) n"a% oon, since he is harming
77%, or is this a case of 7°Wwn1% *217 1An, since 12IX1 owes VAW money as well
50 just as he can be 7911 for himself he can be 7211 for »» also?"

12 See footnote # 1.
13 See a"nx # 167-9.
4 See a"nx # 197.
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